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a) sina =

b) cosa = 5

c) tana = 3

BORESBLTRDINZE sinf, cosf, tanh THL.

a) sin(180° — ) = /\

b) cos(180° —6) =

¢) tan(180° —0) = —0 0
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9] BORESBLTRDINZ sinh, cosh, tanh THRE.

a) sin(—0) =
b) cos(—f) =
o) tan(—6) =
d) sin(r + 0) =
e) cos(m + 0) =

f) tan(wr 4+ 0) =
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a) sin —— = b) COS(_T) =
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a) sinf = — b) V2cosf =1
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BORESB LT =AEBMONNEER AR L0,

a) AOPQ [CRZEEAEALT, PQ? 7% cos(a — B) &= P
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b) P, Q DEZEHZFNZ P(cosa,sina), Q(cosB,sinB) THdDZEZF>T, PQ? % cosa, cos B,

sina, sinfB ZANTEYE.

c) a) &b) DE®RZHNHDET, cos(a — p) DINEERZTRE.

d) BSRT sinf = cos(i - 9) ZRWT, sin(e + f) DIEEERAETY.
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[e> b icos(§ — (@ + B)) = cos((5 —a) = B)).]
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a) sin2x = cosx b) cos2x +3cosx—1=0
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